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1 �� / ���О��!�О!&� 

1.1 Оп8E4=8е E87=4ло6 

 

 

 

 �4==K9 E87=4л о5о7=4G4ет пDедупDе6де=8е! �=8<4=8е! Ко=т4кт E д686уI8<8EO дет4лO<8, G4EтO<8, 

=4EодOI8<8EO под =4пDO6е=8е< 8л8 =47DетK<8 дет4лO<8 <о6ет пD86еEт8 к �4H8< тD46<4< 8л8 

тD46<4< дDу78E лNде9. �лO Mто7о д4NтEO EпеF84лL=Kе ук474=8O. �D8 Eо5лNде=88 6EеE =ео5Eод8<KE <еD 

74I8тK D45от4 E о5оDудо64=8е< Eт4=о68тEO 5е7оп4E=о9. 

1.2 &D46<O пD8 ду7о6о9 E64Dке 

 �4лее пD86еде=K оп8E4=8O E87=4ло6 8 поOE=е=8O от=оE8телL=о =екотоDKE тD46<, котоDKе <о6ете 

полуG8тL �K 8л8 дDу78е лNд8 6о 6Dе<O E64DоG=KE D45от. �D8 8E пDоE<отDе =4по<8=49те Eе5е 8 дDу78< 

о5 оп4E=оEтOE. 

 К уEт4=о6ке, =4л4дке, MкEплу4т4F88, теE=8GеEко<у о5Eлу6864=8N 8 Dе<о=ту о5оDудо64=8O 

допуEк4NтEO толLко л8F4, пDоHедH8е пDоDеEE8о=4лL=уN под7ото6ку. 

 �о 6Dе<O MкEплу4т4F88 =е допуEк4етEO пD8EутEт68е поEтоDо==8E л8F, оEо5е==о дете9. 

 �оEле отклNGе=8O п8т4=8O о5оDудо64=8O пDо876од8тL теE=8GеEкое о5Eлу6864=8е 8 пDо6еDку 

о5оDудо64=8O 6 Eоот6етEт68е E §5 E уGето< =4л8G8O =4пDO6е=8O поEтоO==о7о ток4 6 MлектDол8т8GеEк8E 

ко=де=E4тоD4E. 

 

 �О ������ 1Л�К& �Ч!К�� &ОКО� �О��& � ���!&� К 

!�� &�. 

 �е пD8к4E49теEL к дет4лO<, =4EодOI8<EO под =4пDO6е=8е<. 

 �EполL7у9те EуE8е EплоH=Kе пеDG4тк8 8 оде6ду длO 87олOF88. 

 �EполL7у9те EуE8е 87олOF8о==Kе <4теD84лK длO 87олOF88 Eе5O от D45оGе7о о5оDудо64=8O 8 7е<л8. 

'5ед8теEL, Gто 8EполL7уетEO доEт4тоG=ое кол8GеEт6о 87олOF8о==о7о <4теD84л4 длO покDKт8O 6Eе9 

плоI4дк8 D878GеEко7о ко=т4кт4 E D45оG8< 87дел8е< 8 7е<ле9. 

 �DоO6лO9те оEтоDо6=оEтL пD8 8EполL7о64=88 о5оDудо64=8O 6 =е5олLH8E по<еIе=8OE, 6о 6Dе<O 

оE4дко6 8 6 уEло68OE 6л46=оEт8. 

 �е отклNG49те п8т4=8е о5оDудо64=8е пеDед уEт4=о6ко9 8л8 =4EтDо9ко9. 

 '5ед8теEL, Gто о5оDудо64=8е уEт4=о6ле=о пD468лL=о. �Kпол=8те 747е<ле=8е D45оGе7о 87дел8O 8л8 
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E64D864е<о7о <ет4лл4 к =4де6=о9 E8Eте<е MлектD8GеEко7о 747е<ле=8O 6 Eоот6етEт688 E тDе5о64=8O<8 

Dуко6одEт64 по MкEплу4т4F88. 

 �о 6Dе<O E64DоG=KE D45от MлектDод 8 ко=туD D45оGе7о 87дел8O (747е<ле=8O) =4EодOтEO под 

=4пDO6е=8е<. �е пD8к4E49теEL к дет4лO<, =4EодOI8<EO под =4пDO6е=8е<, 7олK<8 Dук4<8 8л8 6о 

6л46=о9 оде6де. �EполL7у9те EуE8е EплоH=Kе пеDG4тк8 длO 87олOF88 Dук. 

 �D8 полу46то<4т8GеEко9 8л8 46то<4т8GеEко9 E64Dко9 E пDо6олоко9 MлектDод, к4туHк4 MлектDод4, 

E64DоG=4O 7оDелк4, Eопло 8л8 полу46то<4т8GеEк4O E64DоG=4O 7оло6к4 т4к6е =4EодOтEO под =4пDO6е=8е<. 

 '5ед8теEL 6 =4л8G88 EоDоHе7о MлектD8GеEко7о Eоед8=е=8O <е6ду D45оG8< к45еле< 8 E64D864е<K< 

<ет4лло<. �4==ое Eоед8=е=8е дол6=о =4Eод8тLEO <4кE8<4лL=о 5л87ко к E64D864е<о9 о5л4Eт8. 

 �оддеD68649те деD64телL MлектDод4, кле<<у 747е<ле=8O, E64DоG=K9 к45елL 8 E64DоG=ое 

о5оDудо64=8е 6 EоDоHе< 5е7оп4E=о< D45оGе< EоEтоO=88. �о6Dе6де==4O 87олOF8O дол6=4 5KтL 

74<е=е=4. 

 �е по7Dу649те MлектDод 6 6оду длO оEл46де=8O. 

 �е пD8к4E49теEL од=о6Dе<е==о к дет4лO< MлектDод4, =4EодOI8<EO под =4пDO6е=8е< =4 д6уE 

E64DоG=KE 4пп4D4т4E, т4к к4к =4пDO6е=8е <е6ду E64DоG=K<8 4пп4D4т4<8 <о6ет EоEт46лOтL Eу<<у 

=4пDO6е=89 D47о<к=уто9 Fеп8 о5о8E 4пп4D4то6. 

 �D8 6Kпол=е=88 D45от 6KHе уDо6=O пол4 8EполL7у9те Dе<=8 5е7оп4E=оEт8 длO 74I8тK от п4де=8O 6 

EлуG4е поD46е=8O MлектD8GеEк8< токо<. 
 

 �� / � ���/ �О�'& � ��!&��Л/&0 О��!�О!&0. 

 � пDоFеEEе E64Dк8 <о7ут о5D47о64тLEO п4DK 8 747K, пDедEт46лONI8е оп4E=оEтL длO 7доDо6LO. �е 

6дKE49те д4==Kе п4DK 8 747K. �о 6Dе<O E64Dк8 7оло64 =е дол6=4 =4Eод8тLEO 6 7о=е =4л8G8O п4Dо6. 

�EполL7у9те доEт4тоG=о <оI=уN 6е=т8лOF8N 8/8л8 6KтO6ку длO от6од4 п4Dо6 8 747о6 87 7о=K дKE4=8O. 

�D8 6Kпол=е=88 E64Dк8 E 8EполL7о64=8е< MлектDодо6, тDе5уNIе9 EпеF84лL=о9 6е=т8лOF88, =4пD8<еD, 

пD8 E64Dке 87дел89 87 =еD646еNIе9 Eт4л8 8л8 т6еDдKE =4пл46ок, л85о пD8 E64Dке =4 E68=Fе 8л8 Eт4л8 

E к4д<8е6K< покDKт8е<, 4 т4к6е дDу78E <ет4лло6 8 покDKт89, пD8 D45оте E котоDK<8 о5D47уNтEO 

6KEокотокE8G=Kе п4DK, =ео5Eод8<о EоED4=OтL <8=8<4лL=о 6о7<о6=уN Eтепе=L 6о7де9Eт68O (=86е 

�DеделL=KE 7=4Gе=89) 8 8EполL7о64тL <еEт=уN 6KтO6ку 8л8 <еE4=8GеEкуN 6е=т8лOF8N. � о7D4=8Gе==KE 

пDоEтD4=Eт64E, 4 т4к6е 6 =екотоDKE уEло68OE 6=е по<еIе=8OE =ео5Eод8<о 8EполL7о64тL DеEп8D4тоD. 

&4к6е =ео5Eод8<о пD8=OтL допол=8телL=Kе <еDK пDедоEтоDо6=оEт8 пD8 6Kпол=е=88 E64Dк8 87дел89 

87 оF8=ко64==о9 Eт4л8. 

 �е 6Kпол=OтL E64DоG=Kе D45отK DOдо< E 7о=о9 =4л8G8O '� 747о6, о5D47уNI8EEO пD8 уд4ле=88 E<47к8, 

G8Eтке 8л8 опDKEк864=88. &епло 8 87луGе=8е от E64DоG=о9 ду78 <о7ут 6748<оде9Eт6о64тL E п4D4<8 

D4Eт6оD8телO, 6 Dе7улLт4те Gе7о о5D47уетEO DоE7е= - 6KEокотокE8G=K9 747, 8 дDу78е D47дD464NI8е 

6еIеEт64. 
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 �4I8т=Kе 747K, 8EполL7уе<Kе пD8 ду7о6о9 E64Dке, <о7ут 6K<еI4тL 6о7дуE 8 пD86од8тL к тD46<4< 8л8 

E<еDтелL=о<у 8EEоду. �Eе7д4 о5еEпеG8649те доEт4тоG=уN 6е=т8лOF8N длO поддеD64=8O пD87од=о7о длO 

дKE4=8O 6о7дуE4, оEо5е==о 6 о7D4=8Gе==KE пDоEтD4=Eт64E. 

 �ео5Eод8<о пDоG8т4тL 8 по=OтL 8=EтDукF88 пDо876од8телO длO д4==о7о о5оDудо64=8O, 4 т4к6е 

о7=4ко<8тLEO E 8EполL7уе<K<8 D4EEод=K<8 <4теD84л4<8, 6клNG4O д4==Kе п4EпоDт4 5е7оп4E=оEт8 

<4теD84л4 8 Eледо64тL тDе5о64=8O< 5е7оп4E=оEт8 D45отод4телO. 

 

 �О��О��/ О�О�� О& �О����!&��/ ��Л'Ч���/ �'��. 

 �EполL7у9те 74Eло=ку E Eоот6етEт6уNI8< D8лLтDо< 8 74I8т=K<8 =4кл4дк4<8 длO 74I8тK 7л47 от 8EкD 

8 87луGе=8O ду78 пD8 E64Dке 8 пD8 =45лNде=88 74 пDоFеEEо< E64Dк8 откDKто9 ду7о9. 

 !64DI8к8 8 8E по<оI=8к8 дол6=K 8EполL7о64тL Eоот6етEт6уNIуN оде6ду, 6Kпол=е==уN 87 пDоG=о7о 

о7=еупоD=о7о <4теD84л4 длO 74I8тK ко68 от 6о7де9Eт68O 87луGе=8O ду78. 

 О5еEпеGLте 74I8ту пDоG8< =4EодOI8<EO по5л87оEт8 EотDуд=8к4< E по<оILN =е7оDNG8E о7D46де=89. 

&4к6е =ео5Eод8<о пDедупDед8тL дDу78E EотDуд=8ко6, Gто5K о=8 =е E<отDел8 =4 ду7у 8 =е =4Eод8л8EL 6 

7о=е 6о7де9Eт68O 87луGе=8O 8 поп4д4=8O 7оDOG8E 5DK77 <ет4лл4. 
 

 ��Щ�&� 

 �Eе пDедоED4=8телL=Kе уEтDо9Eт64 8 74I8т=Kе пD8EпоEо5ле=8O дол6=K =4Eод8тLEO =4 

Eоот6етEт6уNI8E <еEт4E 8 5KтL 6 EоDоHе< EоEтоO=88.  ук8, 6олоEK, оде6д4 8 8=EтDу<е=тK =е дол6=K 

пD85л864тLEO к кл8=о68д=K< Dе<=O<, 7у5G4тK< пеDед4G4<, 6е=т8лOтоD4< 8 пDоG8< д686уI8<EO 

G4EтO< 6о 6Dе<O 74пуEк4, MкEплу4т4F88 8 Dе<о=т4 о5оDудо64=8O. 

 �е под=оE8те Dук8 5л87ко к 6е=т8лOтоDу д6874телO. �е пKт49теEL оEт4=о68тL <4Eо68к 8л8 

=4пD46лONI89 64л8к путе< =464т8O =4 DKG478 упD46ле=8O дDоEEелO 6о 6Dе<O D45отK д6874телO. 

 

 �� дол8649те топл86о 65л878 <еEт 6Kпол=е=8O D45от по ду7о6о9 E64Dке E 
8EполL7о64=8е< откDKто7о пл4<е=8 8л8 6о 6Dе<O D45отK д6874телO. ОEт4=о68те д6874телL 8 д49те е<у 

оEтKтL, пDе6де Gе< оEуIеEт6лOтL дол86ку топл864 6о 875е64=8е пDол864 топл864 E поEледуNI8< 

8Eп4Dе=8е< 8 6о77оD4=8е< пD8 ко=т4кте E =47DетK<8 дет4лO<8 д6874телO. �е D47л8649те топл86о 6о 

6Dе<O е7о дол86к8 6 54к. � EлуG4е пDол864 пDотD8те D47л8тое топл86о. �е 74пуEк49те д6874телL до теE 

поD, пок4 поDK топл864 =е 8Eп4DOтEO. 

 

 �!К / � � !�� К� <о7ут пD86еEт8 к 6о77оD4=8N 8л8 67DO6у. 
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 'д4л8те 6Eе оп4E=Kе 8EтоG=8к8 о7=O 87 7о=K 6Kпол=е=8O E64DоG=KE D45от. �Eл8 Mто =е6о7<о6=о, 

=4кDо9те 8E 6о 875е64=8O поп4д4=8O 8EкD от E64Dк8, котоDое <о6ет пD86еEт8 к 6о77оD4=8N. �о<=8те, 

Gто 8EкDK от E64Dк8 8 =47DетKе G4Eт8FK, о5D47уNI8еEO 6 Eоде E64DоG=KE D45от, <о7ут ле7ко пDо=8к4тL 

GеDе7 =е5олLH8е тDеI8=K 8 Iел8 6 EоEед=8е о5л4Eт8. �е 6Kпол=O9те E64DоG=Kе D45отK 6о7ле 

78дD46л8GеEк8E л8=89. О7=етуH8телL дол6е= =4Eод8тLEO 6 5л8649Hе< доEтупе. 

 �D8 8EполL7о64=88 E64то7о 7474 =4 D45оGе9 плоI4дке =ео5Eод8<о пD8=OтL оEо5Kе <еDK 

пDедоEтоDо6=оEт8 6о 875е64=8е оп4E=KE E8ту4F89. 

 �о 6Dе<O, ко7д4 E64DоG=Kе D45отK =е пDо6одOтEO, у5ед8теEL, Gто G4Eт8 MлектDод=о9 Fеп8 =е 

EопD8к4E4NтEO E D45оG8< 87дел8е< 8л8 E8Eте<о9 747е<ле=8O. �D8 EлуG49=о< ко=т4кте <о6ет 6о7=8к=утL 

пеDе7Dе6, котоDK9 <о6ет пD86еEт8 к 6о7=8к=о6е=8N по64D4. 

 �е 6Kпол=O9те =47Dе6, Dе7ку 8л8 E64Dку Dе7еD6у4Dо6, е<коEте9 8л8 ко=те9=еDо6, пок4 =е 5удут 

пDедпD8=OтK Eоот6етEт6уNI8е <еDK, котоDKе по76олOт у5ед8тLEO, Gто 6 Eоде т4к8E D45от =е 5удут 

о5D47о6K64тLEO 7оDNG8е 8л8 токE8G=Kе п4DK от 8E EодеD68<о7о. �7DK6 <о6ет пDо87о9т8 д46е еEл8 

д4==Kе е<коEт8 5Kл8 «оG8Iе=K». 

 �ео5Eод8<о оEуIеEт68тL пDоду6ку л8тKE DоD< 8л8 ко=те9=еDо6 пеDед =47Dе6о<, Dе7ко9 8л8 E64Dко9. 

� пDот86=о< EлуG4е Mто <о6ет пD86еEт8 к 67DK6у. 

 �D8 6Kпол=е=88 ду7о6о9 E64Dк8 8EкDK 8 к4пл8 <ет4лл4 D47лет4NтEO 6 EтоDо=K. �EполL7у9те 

=епDо<4Eле==уN 74I8т=уN оде6ду, 6 т.G., ко64=Kе пеDG4тк8, толEтуN Dу54Eу, Hт4=K 5е7 от6оDото6, 

6KEок8е 5от8=к8 8 H4пку, 74кDK64NIуN 6олоEK. �D8 6Kпол=е=88 E64DоG=KE D45от 6 о7D4=8Gе==о< 

пDоEтD4=Eт6е 8EполL7у9те 5еDуH8. �4EодOEL 6 7о=е E64DоG=KE D45от 6Eе7д4 8EполL7у9те 74I8т=Kе оGк8 

E 5око6K<8 74I8т=K<8 MкD4=4<8. 

 �одклNG8те D45оG89 к45елL к D45оGе<у 87дел8N к4к <о6=о 5л86е к <еEту E64Dк8. �D8 подклNGе=88 

D45оG8E к45еле9 к ко=EтDукF8O< 7д4=89 8 дDу78< <еEт4< =4 отд4ле=88 от <еEт4 E64Dк8 у6ел8G864етEO 

6еDоOт=оEтL пDоEо6де=8O ток4 E64Dк8 GеDе7 подJе<=Kе Fеп8, к45ел8 кD4=о6 8 дDу78е ко=туDK. 1то 

<о6ет Eо7д4тL оп4E=оEтL 6о77оD4=8O 8л8 пD86еEт8 к пеDе7Dе6у 8 D47DуHе=8N подJе<=KE Fепе9 8л8 

тDоEо6. 

 

 �D4I4NI8еEO дет4л8 <о7ут 5OтP оп4E=O. 

 �EполL7у9те толLко 54лло=K E пD468лL=K< E64тK< 74I8т=K< 747о< 6 Eоот6етEт688 E оEо5е==оEтO<8 

теE=оло78GеEко7о пDоFеEE4, т4к6е =ео5Eод8<о пDо876од8тL пD468лL=Kе =4EтDо9к8 6 Eоот6етEт688 E 

EоEт46о< 8 д46ле=8е< 8EполL7уе<о7о 7474. �Eе Hл4=78, D8т8=78 8 т.д. дол6=K Eоот6етEт6о64тL EпоEо5у 

пD8<е=е=8O 8 поддеD6864тLEO 6 EоDоHе< EоEтоO=88. 

 �4лло=K 6Eе7д4 дол6=K ED4=8тLEO 6 6еDт8к4лL=о< поло6е=88 8 =4де6=о кDеп8тLEO FепO<8 к 

опоD=о<у H4EE8 8л8 D8кE8Dо64==о9 опоDе. 

  47<еI4тL 54лло=K: 
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- �Eе7д4 6д4л8 от 7о=, 7де 6о7<о6=K уд4DK 8л8 D878GеEк8е по6Dе6де=8O. 

- �4 5е7оп4E=о< D4EEтоO=88 от <еEт пDо6еде=8O D45от по ду7о6о9 E64Dке 8л8 Dе7ке, 4 т4к6е 6д4л8 

от дDу78E 8EтоG=8ко6 тепл4, 8EкD 8 о7=O. 

 �е допуEк49те ко=т4кт4 <е6ду 54лло=о< 8 MлектDодо<, деD64теле< MлектDод4 8 дDу78<8 дет4лO<8 

под =4пDO6е=8е<. 

 �о 6Dе<O откDKт8O кл4п4=4 54лло=4 деD68те 7оло6у 8 л8Fо 6 EтоDо=е от 6KEод4 кл4п4=4 54лло=4. 

 �4I8т=Kе колп4Gк8 кл4п4=о6 6Eе7д4 дол6=K =4Eод8тLEO =4 <еEте 8 5KтL 74тO=утK<8 Dук4<8, 74 

8EклNGе=8е< EлуG4е6, ко7д4 54лло= 8EполL7уетEO 8л8 подклNG4етEO. 
 

1.3 �=4=8O о5 QлектDо<47=8т=OE полOE 

1лектD8GеEк89 ток, пDоEодOI89 GеDе7 пDо6од=8к, пD86од8т к 6о7=8к=о6е=8N лок4лL=KE 

MлектDо<47=8т=KE поле9. �л8O=8е MлектDо<47=8т=о7о полO 6 д4==K9 <о<е=т о5Eу6д4етEO по 6Eе<у <8Dу. 

�4 =4EтоOI89 <о<е=т отEутEт6уNт <4теD84лL=Kе E68детелLEт64 то7о, Gто MлектDо<47=8т=Kе полO <о7ут 

6о7де9Eт6о64тL =4 7доDо6Lе Gело6ек4. Од=4ко, 8EEледо64=8O по 6о7де9Eт68N MлектDо<47=8т=KE поле9 

пDодол64NтEO =4 д4==K9 <о<е=т. �о то7о, к4к 5удут Eдел4=K к4к8е-л85о 6K6одK, =ео5Eод8<о 

<4кE8<4лL=о E=878тL 6о7де9Eт68е MлектDо<47=8т=о7о полO. 

! FелLN <8=8<874F88 6о7де9Eт68O MлектDо<47=8т=о7о полO =ео5Eод8<о 6Kпол=OтL EледуNI8е 

пDоFедуDK: 

 1лектDодK 8 D45оG8е к45ел8 дол6=K 5KтL пDоло6е=K Eо6<еEт=о – �4кDеплO9те 8E 87оле=то9, 7де Mто 

6о7<о6=о. 

 К45ел8 дол6=K =4Eод8тLEO =4 <4кE8<4лL=о< уд4ле=88 от опеD4тоD4. 

 �е 74кDуG8649те E8ло6о9 к45елL 6окDу7 E6ое7о тел4. 

 '5ед8теEL, Gто E64DоG=K9 4пп4D4т 8 к45ел8 =4EодOтEO =4 <4кE8<4лL=о 6о7<о6=о< уд4ле=88 от 

опеD4тоD4, 6 7468E8<оEт8 от о5EтоOтелLEт64. 

 �одклNG49те D45оG89 к45елL к D45оGе<у 87дел8N к4к <о6=о 5л86е к <еEту. 

 Л8F4 E к4Dд8оEт8<улOтоD4<8 дол6=K =4Eод8тLEO =4 уд4ле=88 от <еEт4 6Kпол=е=8O E64DоG=KE D45от. 



!�О���/ ��$О ��&�/ 

 

6 

 

2 !�О���/ ��$О ��&�/ 

 

2.1 КD4ткое 66еде=8е 

� E64DоG=о< 4пп4D4те TIG‐250PL AC/DC пD8<е=е=4 E4<4O Eо6Dе<е==4O теE=оло78O H8Dот=о-

8<пулLE=о9 <одулOF88 ((��), 4 т4к6е 8EполL7уетEO E8ло6о9 <одулL E 58полOD=K< тD4=78EтоDо< E 

87ол8Dо64==K< 74т6оDо< (�&��), EпоEо5=K9 87<е=OтL D45оGуN G4Eтоту до EDед=е9 G4EтотK E FелLN 

74<е=K тD4д8F8о==о7о 7Dо<о7дко7о тD4=EDоD<4тоD4 D45оGе9 G4EтотK =4 п4=елL=K9 тD4=EDоD<4тоD 

EDед=е9 G4EтотK. &4к8< о5D47о<, 4пп4D4т о5л4д4ет =е5олLH8< D47<еDо< 8 <4лK< 6еEо<, Gто по76олOет 

ле7ко пеDе<еI4тL е7о, 8<еет =87кое M=еD7опотDе5ле=8е 8 т.д. 

�4 пеDед=е9 п4=ел8 TIG‐250PL AC/DC EуIеEт6ует 6о7<о6=оEтL поEтоO==о9 пл46=о9 Dе7ул8Dо6к8 

т4к8E п4D4<етDо6, к4к =4G4лL=K9 ток, ток ду78 кD4теD4, E64DоG=K9 ток, ток упD46ле=8O, коMDD8F8е=т 

=47Dу7к8, пDодол68телL=оEтL у6ел8Gе=8O ток4, пDодол68телL=оEтL у<е=LHе=8O ток4, 

пDодол68телL=оEтL пDед64D8телL=о9 под4G8 7474, пDодол68телL=оEтL поEледуNIе9 под4G8 7474, 

G4Eтот4 8<пулLE4, G4Eтот4 пеDе<.ток4, 54л4=E, 7оDOG89 74пуEк, д46ле=8е ду78 8 дл8=4 ду78 8 т.д. �о 6Dе<O 

E64Dк8 �о 6Dе<O E64DоG=KE D45от длO уEпеH=о7о 746874=8O ду78 тDе5уетEO 6KEок4O G4Eтот4 8 6KEокое 

=4пDO6е=8е. 

%4D4ктеD8Eт8к8 TIG‐250PL AC/DC： 

 !8Eте<4 упD46ле=8O =4 <8кDоко=тDоллеD4E, о5еEпеG864ет =е<едле==уN Dе4кF8N =4 лN5Oе 

87<е=е=8O. 

 �OEок4O G4Eтот4 8 6OEокое =4пDO6е=8е пD8 746874=88 ду78, Gто о5еEпеG864ет уEпеH=ое 

746874=8е ду78, 746874=8е E о5D4т=о9 полOD=оEтPN о5еEпеG864ет EоDоHее 746874=8е пD8 

747о6олPDD4<о6о9 E64Dке E пеDе<е==O< токо<. 

 !пеF84лP=Oе EDедEт64 длO пDедот6D4Iе=8O пDеDO64=8O ду78 пеDе<е==о7о ток4. �46е 6 EлуG4е 

о5DO64 ду78 пD8 6OEокоG4Eтот=о9 E64Dке о5еEпеG864етEO Eт458лP=оEтP ду78. 

 �ед4лP упD46ле=8O E64DоG=O< токо<. 

  45от4 6 Dе68<е 747о6олPDD4<о6о9 E64Dк8 E поEтоO==O< токо<. � EлуG4е, еEл8 6олPDD4<о6O9 

QлектDод к4E4етEO D45оGе7о 87дел8O 6 пDоFеEEе E64Dк8, E8л4 ток4 E=864етEO до ток4 коDотко7о 

74<Oк4=8O E FелPN 74I8тO 6олPDD4<4. 

 '<=4O 74I8т4: от 875OтоG=о7о =4пDO6е=8O, 875OтоG=о7о ток4, пеDе7Dе64. � EлуG4е 

6о7=8к=о6е=8O ук474==OE пDо5ле< 747оD4етEO 464D89=4O E87=4лP=4O л4<п4 =4 пеDед=е9 п4=ел8, 

4 6OEод=о9 ток 5удет отклNGе=. 1то по76ол8т о5еEпеG8тP Eо5Eт6е==уN 74I8ту 8 пDодл8тP EDок 

QкEплу4т4F88 о5оDудо64=8O. 

 �6о9=ое =47=4Gе=8е: �=6еDтоD 747о6олPDD4<о6о9 E64Dк8 E пеDе<е==O< токо< 8 8=6еDтоD 

747о6олPDD4<о6о9 E64Dк8 E поEтоO==O< токо<, отл8G=Oе Dе7улPт4тO пD8 D45оте E 

4лN<8=8е6O<8 Eпл464<8, у7леDод8Eто9 Eт4лPN, =еD646еNIе9 Eт4лPN, т8т4=о<. 
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� 7468E8<оEт8 от Dу=кF89, 6K5D4==KE =4 пеDед=е9 п4=ел8, <о7ут 5KтL Dе4л87о64=K HеEтL 

EпоEо5о6 E64Dк8. 

 �47о6олLDD4<о64O E64Dк4 E поEтоO==K< токо< 

 �47о6олLDD4<о64O E64Dк4 E 8<пулLE=K< поEтоO==K< токо< 

 �47о6олLDD4<о64O E64Dк4 E пеDе<е==K< токо< 

 �47о6олLDD4<о64O E64Dк4 E 8<пулLE=K< пеDе<е==K< токо< 

 

1. �D8 747о6олLDD4<о6о9 E64Dк8 E поEтоO==K< токо< о5KG=о 8EполL7уетEO поEтоO==K9 ток 

о5D4т=о9 полOD=оEт8 (D45оGее 87дел8е подклNG4етEO к поло68телL=о<у полNEу, 4 7оDелк4 

подклNG4етEO к отD8F4телL=о<у полNEу). &4кое Eоед8=е=8е о5л4д4ет DOдо< E4D4ктеD8Eт8к, 

6клNG4O Eт458лL=оEтL E64DоG=о9 ду78, =87к89 D4EEод 6олLDD4<о6о7о MлектDод4, 5олее 6KEок89 

E64DоG=K9 ток, у7к89 8 7лу5ок89 E64DоG=K9 Hо6; 

2. �D8 747о6олLDD4<о6о9 E64Dке E пеDе<е==K< токо< E к64дD4т=о9 6ол=о9 ду74 5олее 

Eт458лL=4, Gе< пD8 747о6олLDD4<о6о9 E64Dке E пеDе<е==K< токо< E E8=уEо8д4лL=о9 6ол=о9. &е< 

=е <е=ее, <4кE8<4лL=о9 7лу58=K пDо64D4 <о6=о доEт8GL пD8 <8=8<4лL=о< D4EEоде 

6олLDD4<о6о7о MлектDод4 E о5еEпеGе=8е< <8=8<4лL=о7о 747оD4. 

3. �47о6олLDD4<о64O E64Dк4 E 8<пулLE=K< поEтоO==K< токо< 8<еет EледуNI8е 

E4D4ктеD8Eт8к8: 1) �<пулLE=K9 =47Dе6. �ет4лл 6 E64DоG=о9 64==о9 5KEтDо D4Eпл46лOетEO пD8 

6KEоко9 те<пеD4туDе 8 5KEтDо 74EтK64ет, Gто E=864ет 6еDоOт=оEтL о5D47о64=8O тDеI8= =4 

<4теD84л4E E те<пеD4туD=о9 Gу6Eт68телL=оEтLN. 2)  45оGее 87дел8е =47Dе64етEO оGе=L <4ло. 

!DокуE8Dо64==4O M=еD78O ду78. �одEод8т длO E64Dк8 то=к8E 8 E6еDEто=к8E л8Eто6. 3) &оG=ое 

упD46ле=8е 6Eод=о9 те<пеD4туDо9 8 D47<еDо< E64DоG=о9 64==K.  46=о<еD=4O 7лу58=4 пDо64D4. 

�одEод8т длO E64Dк8 E од=о9 EтоDо=K 8 DоD<о6к8 E д6уE EтоDо=, 4 т4к6е длO E64Dк8 тDу5 E лN5о9 

по78F88. 4) ! по<оILN ду78 6KEоко9 G4EтотK <о6ет <о6=о дел4тL <ет4лл длO <8кDол8то6о7о 

6олок=4, 7464D864тL пу7KD8 8 улуGH4тL <еE4=8GеEк8е E4D4ктеD8Eт8к8 Eоед8=е=89. 5) 

�KEокоG4Eтот=4O ду74 подEод8т длO 6KEокоEкоDоEт=о9 E64Dк8 8 по76олOет по6KE8тL 

пDо876од8телL=оEтL. 

!64DоG=Kе 4пп4D4тK EеD88 TIG‐250PL пD87од=K длO 6Kпол=е=8O E64DоG=KE D45от 6 лN5KE 

поло6е=8OE =4 D47л8G=KE пл4Eт8=4E 87 =еD646еNIе9 Eт4л8, у7леDод8Eто9 Eт4л8, Eпл46о6 87 Eт4л8, 

т8т4=4, 4лN<8=8O, <47=8O, <ед8 8 т.д. 1то т4к6е пD8<е=8<о пD8 уEт4=о6ке тDу5, Dе<о=те DоD<о6KE 

87дел89, 6 =еDтеE8<8GеEко9 пDо<KHле==оEт8, пD8 877ото6ле=88 4DE8тектуD=KE декоD4F89, Dе<о=те 

46то<о58ле9, 6елоE8педо6, пD8 877ото6ле=88 Dе<еEле==KE 87дел89, 4 т4к6е пD8 пDо876одEт6е пDоG8E 

87дел89. 

(��——(8Dот=о-8<пулLE=4O <одулOF8O;  

IGBT——�8полOD=K9 тD4=78EтоD E 87ол8DуNI8< 74т6оDо<  

TIG——�47о6олLDD4<о64O E64Dк4 
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2.2 Оп8E4=8е <одулO 

Оп8E4=8е <одулO 4пп4D4т4 длO ду7о6о9 E64Dк8 дол6=о Eоот6етEт6о64тL Eоот6етEт6уNI8< 

тDе5о64=8O< �4F8о=4лL=о7о Eт4=д4Dт4 GB10249. �DедEт46ле=о EледуNIее оп8E4=8е 

 

2.3 �D8=F8п D45отO 

�D8=F8п D45отK E64DоG=о7о 4пп4D4т4 TIG‐250PL пDедEт46ле= =4 D8Eу=ке =86е. Од=оD47=ое 

=4пDO6е=8е 220� пеDе<. ток4 6KпDO<лOетEO 6 =4пDO6е=8е поEтоO==о7о ток4 (около 312�), 74те< 

пDео5D47уетEO 6 6 =4пDO6е=8е пеDе<. ток4 EDед=е9 G4EтотK (около 20 к�F) E по<оILN 8=6еDтоD4 (<одулO 

IGBT), поEле Gе7о пDо8EEод8т по=86е=8е =4пDO6е=8O E по<оILN тD4=EDоD<4тоD4 EDед=е7о =4пDO6е=8O 

(оE=о6=о7о тD4=EDоD<4тоD4) 8 6KпDO<ле=8е E по<оILN 6KпDO<8телO EDед=е9 G4EтотK (д8одо6 E Dе7к8< 

6оEEт4=о6ле=8е<), поEле Gе7о пDо8EEод8т 6K6од поEтоO==о7о 8л8 пеDе<е==о7о ток4 по 6K5оDу =4 <одуле 

IGBT. � ко=туDе пD8<е=е=4 теE=оло78O упD46ле=8O =4 оE=о6е о5D4т=о9 E6O78 по току E FелLN о5еEпеGе=8O 

Eт458лL=о7о 6KEод=о7о ток4. �D8 Mто<, 8<еетEO 6о7<о6=оEтL поEтоO==о9 пл46=о9 =4EтDо9к8 п4D4<етDо6 

E64DоG=о7о ток4 6 Eоот6етEт688 E тDе5о64=8O<8 к E64DоG=о<у пDоFеEEу. 

 
 

 

 

2.4 �олPт-4<пеD=4O E4D4ктеD8Eт8к4 

 

!64DоG=K9 4пп4D4т TIG‐250PL AC/DC 8<еет отл8G=уN 6олLт-4<пеD=уN E4D4ктеD8Eт8ку, 7D4D8к 

котоDо9 87о5D46е= =4 EледуNIе< D8Eу=ке. !оот=оHе=8е <е6ду Eт4=д4Dт=K< =о<8=4лL=K< 

=4пDO6е=8е< =47Dу7к8 U2 8 Eт4=д4Dт=K< E64DоG=K< токо< I2: 

�Eл8 I2≤600A，U2=10+0.04I2(�); �Eл8 I2＞600A,U2=34(�). 

  

1$, пеD. ток, 

220�，50�F 

�KпD
O<8т
елL 

�оEт. 
ток 

&D4=E
DоD<
4тоD 

�=6е
DтоD 

�еDе<. 

ток 
�еDе<. 

ток 
�оEт. 
ток 

�KпD
O<8т
елL 

�=6е
DтоD 

�4тG8
к 

%олл
4 

AC 8л8 DC AC 8л8 DC 

!87=4л 

упD46ле=8O 
 е7ул8Dо64=8е E8лK 

ток4 E о5D4т=о9 

E6O7LN 
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U2ÿ�Ā �олLт-4<пеD=4O 

E4D4ктеD8Eт8к4 

 45оG4O 

тоGк4 

От=оHе=8е <е6ду 

Eт4=д4Dт=K< =4пDO6е=8е< 

=47Dу7к8 8 токо< E64Dк8 

I2ÿAĀ 
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3 'Eт4=о6к4 8 =4EтDо9к4 

3.1 �4D4<етDO 

�одел8 

�4D4<етDO 

TIG-250PL ACDC 

�Eод=4O <оI=оEтL 1~220±10%，50�ц 

�о<8=4лL=K9 6Eод=о9 ток 

(�) 
26ÿ�47о6олLDD4<о64O E64Dк4Ā 

�о<8=4лL=4O 6Eод=4O 

<оI=оEтLÿк�тĀ 

5,7ÿ�47о6олLDD4<о64O E64Dк4Ā 

 

 

КоMDD8F8е=т <оI=оEт8 0,76 

�4кE. =4пDO6е=8е 5е7 
=47Dу7к8 (�) 64 

�84п47о= уEт4=о6к8 
пуEко6о7о ток4 (A) 

�47о6олLDD4<о64O E64Dк4 

�еDе<. ток �оEт. ток 

�KEокоG4Eтот=4O 

E64Dк4 
LIFT 

10～E64DоG=K9 ток 

10～E64DоG=K9 ток 30～E64DоG=K9 ток 

�84п47о= уEт4=о6к8 
E64DоG=о7о ток4 (A) 

10～200 30～200 10～200 

�84п47о= уEт4=о6к8 
кD4теD=о7о ток4 (A) 

10～200 30～200 10～200 

�84п47о= уEт4=о6к8 
пDодол68телL=оEт8 

у<е=LHе=8O ток4ÿSĀ 

0～5 

�Dодол68телL=оEтL 
пDед64D8телL=о9 под4G8 

7474 ÿSĀ 

0,1~1 

�84п47о= уEт4=о6к8 
пDодол68телL=оEт8 
поEледуNIе9 под4G8 7474 

ÿSĀ 

0,1～10 

�47оDÿ%Ā 15～50 

�Dо876од8телL=оEтL 

 45оG89 F8кл 

�еDе<. ток �оEт. ток 

25% 200� 25% 200� 
60% 129� 60% 129� 
100% 100� 100% 100� 

Кл4EE 74I8тK IP21S 

Кл4EE 87олOF88 H 

�454D8тK о5оDудо64=8O 

ÿ�×(×�Āÿ<<Ā 
380*206*274 

�4EE4 (к7) 12,6 
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3.2  45оG89 F8кл 8 пеDе7Dе6 

 
�ук64 <X= о7=4G4ет D45оG89 F8кл, котоDK9 опDеделOетEO к4к от=оHе=8е пDодол68телL=оEт8 

6Dе<е=8, 6 теGе=8е котоDо7о 4пп4D4т <о6ет =епDеDK6=о D45от4тL, к опDеделе==о<у пDо<е6утку 

6Dе<е=8 (10 <8=ут). �о<8=4лL=K9 D45оG89 F8кл 

о7=4G4ет пDо<е6уток 6Dе<е=8, 6 теGе=8е котоDо7о 

4пп4D4т <о6ет =епDеDK6=о D45от4тL, 6 D4<к4E 10 <8=ут, 

ко7д4 пDо876од8тEO 6Kд4G4 =о<8=4лL=о7о E64DоG=о7о 

ток4. 

От=оHе=8е <е6ду D45оG8< F8кло< X 8 6KEод=K< 

E64DоG=K< токо< I пD86еде=о =4 пD46о< D8Eу=ке. 

 

 

�D8 пеDе7Dе6е E64DоG=о7о 4пп4D4т4 6=утDе==89 5лок 74I8тK <одулO IGBT от пеDе7Dе64 6Kд4ет 

ко<4=ду =4 отклNGе=8е 6KEод=о7о ток4 8 6клNGе=8е ко=тDолL=о9 л4<поGк8 пеDе7Dе64 =4 пеDед=е9 

п4=ел8. �оEле Mто7о =ео5Eод8<о =е 8EполL7о64тL 4пп4D4т 6 теGе=8е 15 <8=ут, Gто5K оEтуд8тL 6е=т8лOтоD. 

�D8 6о7о5=о6ле=88 D45от E=878тEO 6KEод=о9 ток 8л8 дл8телL=оEтL D45оGе7о F8кл4. 

 

3.3 �еDе<еIе=8е 8 уEт4=о6к4 

 

�D8 пеDе<еIе=88 E64DоG=о7о 4пп4D4т4 5удLте 6=8<4телL=K, Gто5K =е D4Eполо68тL е7о под 

=4кло=о<. 

�пп4D4т <о6=о т4к6е пеDе<еI4тL 74 DуGку, D4Eполо6е==уN =4 е7о 6еDE=е9 G4Eт8. �еDе<еIе=8е 

4пп4D4т4 дол6=о оEуIеEт6лOтLEO 6 пD468лL=о< поло6е=88. �оEле пеDе<еIе=8O 4пп4D4т4 6 тоGку 

уEт4=о6к8 =ео5Eод8<о 74D8кE8Dо64тL е7о 6о 875е64=8е EколL6е=8O. 

�Eл8 8EполL7уетEO 68лоG=K9 по7Dу7G8к, дл8=4 е7о 68л дол6=4 5KтL 5олLHе дл8=K 4пп4D4т4 длO 

о5еEпеGе=8O 5е7оп4E=о7о подJе<4. 

�D8 пеDе<еIе=88 <о7ут 6о7=8к4тL поте=F84лL=Kе оп4E=оEт8 8л8 7=4G8телL=Kе D8Eк8. �еDед 

8EполL7о64=8е< 4пп4D4т4 у5ед8теEL, Gто о= =4Eод8тEO 6 5е7оп4E=о< поло6е=88. 

 

3.4 �одклNGе=8е 8EтоG=8к4 п8т4=8O 

 

От=оHе=8е E64DоG=о7о ток4 к 

D45оGе<у F8клу длO WSME-200 
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�8т4=8е E64DоG=о7о 4пп4D4т4 TIG‐250PL оEуIеEт6лOетEO от 8EтоG=8к4 220�. 

 

� 4пп4D4те 8<еNтEO 6EтDое==Kе Mле<е=тK 74I8тK от по=86е==о7о 8 по6KHе==о7о =4пDO6е=8O. � 

EлуG4е, еEл8 =4пDO6е=8е 6 Eет8 п8т4=8O пDе6KH4ет 5е7оп4E=ое D45оGее =4пDO6е=8е,  747оD8тEO л4<п4 

464D89=о9 E87=4л874F88, 4 под4G4 6KEод=о7о ток4 5удет пDекD4Iе=4. 

�Eл8 =4пDO6е=8е п8т4=8O поEтоO==о 6KEод8т 74 д84п47о= 5е7оп4E=KE D45оG8E 7=4Gе=89, Mто 

<о6ет пD86еEт8 к у<е=LHе=8N EDок4 MкEплу4т4F88 E64DоG=о7о о5оDудо64=8O. �о6=о пD85е74тL к 

EледуNI8< <еD4<: 

 !<е=8тL EетL п8т4=8O. �4пD8<еD, подклNG8тL E64DоG=K9 4пп4D4т к 8EтоG=8ку Eт458лL=о7о п8т4=8O 

8л8 D4EпDедел8телN; 

 �о6KE8тL кол8GеEт6о од=о6Dе<е==KE потDе58теле9 M=еD788; 

 'Eт4=о68тL Eт458л874тоD =4пDO6е=8O =4 66од к45елO п8т4=8O. 

 

 

3.5 !5оDк4 о5оDудо64=8O (длO 747о6олPDD4<о6о9) 
 

 

 

  45оGее 87дел8е подклNG4етEO п поло68телL=о<у MлектDоду E64DоG=о7о 4пп4D4т4, 4 E64DоG=4O 

7оDелк4 подклNG4етEO к отD8F4телL=о<у MлектDоду. 1то =47K64етEO �ОЛО��&�Л0�/� 

�О�КЛ.'����� �О!&. &ОК�. � пDот86=о< EлуG4е Mто =47K64етEO О& �&�&�Л0�/� 

�О�КЛ.'����� �О!&. &ОК�. О5KG=о D45отK 6 Dе68<е 747о6олLDD4<о6о9 E64Dке пDо876одOтEO E 

8EполL7о64=8е< �ОЛО��&�Л0�О�О !О�������/ �О!&. &ОК�. 

 К45елL упD46ле=8O 6KклNG4теле< 7оDелк8 EоEто8т 87 2 пDо6одо6, пед4л8 упD46ле=8O E 3 

�4??BA 8?O 
74;BB5D4;AB7B 

4D7BA4 
�4;B6O= L?4A7 

�CGE>AB9 
EB98<A9A<9 
;4M<FAB7B 74;4 

"FD<J4F9?PAO
= 6OIB8 

%B98<A9A<9 
8?O ;4M<FAB7B 

74;4 

 GHF4 
CB84K< 
6B;8GI4 

�48AOO 
C4A9?P #B?B:<F9?PAO

= 6OIB8 

#9D98AOO 
C4A9?P 

FDG54 

�BD9?>4 

%64DBKAO= 
>459?P 

�459?P GCD46?9A<O 
6O>?NK4F9?9@ 7BD9?>< 

#"�"��&��Ь!"� 
#"���ЮЧ�!�� #"%&.&"�� 

�459?P 
B5D4FAB7B FB>4 

$45BK99 <;89?<9 

Ar 
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пDо6од4<8 8 <уDтK под4G8 6о7дуE4 E 14 под6одOI8<8 к4=4л4<8. 

 �лO полуGе=8O 8=DоD<4F88 по D4EEод=K< <4теD84л4< длO 7оDелк8 747о6олLDD4<о6о9 E64Dк8, 

6клNG4O 6олLDD4<о6K9 MлектDод, =4ко=еG=8к, 747о6уN 7оDелку, I8ток MлектDод4 

(коDотк89/дл8==K9), отпD46Lте =4< 74пDоE по MлектDо==о9 поGте 8л8 телеDо=у E ук474=8е< кодо6 

Mле<е=то6. 

 �о 6Dе<O MкEплу4т4F88 E64DоG=KE 4пп4D4то6 TIG‐250PL по <етоду 6KEокоG4Eтот=о7о 746874=8O, 

8EкD4 746874=8O <о6ет Eо7д464тL по<еE8 длO о5оDудо64=8O, =4EодOIе7оEO 65л878 E64DоG=о7о 

4пп4D4т4. О5еEпеGLте =4л8G8е EпеF84лL=KE <еD 5е7оп4E=оEт8 8л8 уEт4=о68те о7D46де=8O. 
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4 1кEплу4т4F8O 

 

4.1 !Eе<4 п4=ел8 

 

1 �оло68телP=O9 6OEод �KEод E64DоG=о7о 4пп4D4т4 E поло68телL=о9 полOD=оEтLN. 

2 �уDт4 под4G8 6о7дуE4 �одклNG4етEO к к45елN упD46ле=8O 6KклNG4телO 7оDелк8. 

3 ОтD8F4телP=O9 6OEод �KEод E64DоG=о7о 4пп4D4т4 E отD8F4телL=K9 полOD=оEтLN. 

4 !оед8=е=8е длO 74I8т=о7о 7474 �одклNG4етEO к 6Eод=о<у 747о6о<у п4тDу5ку 7оDелк8. 

5 �OклNG4телP п8т4=8O �Eл8 6KклNG4телL =4Eод8тEO 6 поло6е=88 �КЛ, 4пп4D4т 6клNGе=. �Eл8 

6KклNG4телL =4Eод8тEO 6 поло6е=88 �/КЛ, 4пп4D4т 6KклNGе=. 

6 �Eод п8т4=8O �лO подклNGе=8O к 8EтоG=8ку п8т4=8O. 

7 �пуEк=ое Eоед8=е=8е 74I8т=о7о 7474 �лO подклNGе=8O од=о7о ко=F4 747о6о7о Hл4=74, пD8 

Mто< дDу7о9 ко=еF подклNG4етEO к 54лло=у E 4D7о=о<. 

8 �е=т8лOтоD �EполL7уетEO длO оEл46де=8O ко<по=е=то6 8 дет4ле9 6=утD8 E64DоG=о7о 

4пп4D4т4. 
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4.2 �4=елP упD46ле=8O 

 

 

(12) �8Eпле9 E64DоG=о7о ток4 (11) �8Eпле9 E64DоG=о7о =4пDO6е=8O/дDу78E п4D4<етDо6 

(1) �еDеклNG4телL 
пеDеклNGе=8O Dе68<4 
пеD./поEт. ток4 

(2) �еDеклNG4телL 6K5оD4 
Dе68<4 

(3) К=опк4 ко=тDолO 747о6о9 
EDедK 

(4) !оED4=е=8е пDо7D4<<K 

(5) �KклNG4телL 8<пулLE4 

(6) �еDеклNG4телL 6K5оD4 
п4D4<етD4 

(7) �еDеклNG4телL 6K5оD4 п4D4<етD4 

(8) &8DеD5л4т =4EтDо9к8 

(9) К=опк4 Dе68<4 E64Dк8 Eо 
E64DоG=K< MлектDодо< 

(10) '4Eтот4/6Dе<O оEл46де=8O 
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О5I8е E6еде=8O 

КлNGе6о9 оEо5е==оEтLN п4=ел8 упD46ле=8O O6лOетEO ло78G=K9 EпоEо5 D4Eполо6е=8O ко=тDоллеDо6. �Eе 

оE=о6=Kе п4D4<етDK длO по6Eед=е6=о9 D45отK <о6=о E ле7коEтLN: 

‐ 6K5D4тL E по<оILN пеDеклNG4теле9 

‐ 87<е=8тL E по<оILN F8DеD5л4т4 

‐ поE<отDетL =4 д8Eплее 6 пDоFеEEе E64Dк8. 

�4 пDедEт46ле==о9 =86е 8ллNEтD4F88 пD86еде= кD4тк89 о57оD оE=о6=KE =4EтDоек, =ео5Eод8<KE длO 

по6Eед=е6=о9 D45отK. � к4GеEт6е пD8<еD пD86еде=4 п4=елL упD46ле=8O 4пп4D4т4 TIG‐250PL. �одDо5=ое 

оп8E4=8е д4==KE =4EтDоек пD86од8тEO 6 EледуNIе< D47деле. 

(1) �еDеклNG4телP пеDеклNGе=8O Dе68<4 пеD./поEт. ток4 

 

!64Dк4 E пеDе<е==K< токо<  
 

!64Dк4 E поEтоO==K< токо< 

(2) �еDеклNG4телP 6O5оD4 Dе68<4 

 

2‐(47о6K9 Dе68<  
 

%ОЛО��/� Dе68< 

(3) К=опк4 ко=тDолO 747о6о9 EDедO 

�47оD4етEO, ко7д4 =464т4 к=опк4 ко=тDолO 747о6о9 EDедK, поEле Mто7о 747 5удет под464тLEO 6 теGе=8е 15 

Eек. �лO пDекD4Iе=8O под4G8 7474 D4=ее, Gе< GеDе7 15 Eеку=д4, =46<8те к=опку по6тоD=о. 

(4) !оED4=е=8е пDо7D4<<O 

�46<8те =4 Mту к=опку, Gто5K EоED4=8тL 6ел4е<уN пDо7D4<<у поEле 6Kпол=е=8O =4EтDоек. �4==уN 

пDо7D4<<у <о6=о 5удет 8EполL7о64тL 6 5удуIе<. 

(5) �OклNG4телP 8<пулPE4 

�47оD4етEO, ко7д4 =464т4 к=опк4 «�KклNG4телL 8<пулLE4». 

(6) � (7) �еDеклNG4тел8 6O5оD4 п4D4<етDо6 

�Eл8 6K5D4= <Dе68< 2T=, EуIеEт6ует 6о7<о6=оEтL 87<е=е=8O 7=4Gе=8O п4D4<етDо6 E по<оILN 

пеDеклNG4теле9 6K5оD4 п4D4<етDо6 (6) 8 (7) 6 пDоFеEEе E64Dк8. 

(8) &8DеD5л4т =4EтDо9к8 

�Eл8 747оD4етEO 8=д8к4тоD п4D4<етD4, то 7=4Gе=8е 6K5D4==о7о п4D4<етD4 <о6=о 87<е=8тL E по<оILN 

F8DеD5л4т4 =4EтDо9к8. 
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�оEтуп=Kе п4D4<етDK =4EтDо9к8 6 Dе68<е 2T: 

 

�Dе<O пDед64D8телP=о9 пDоду6к8 

�д.87<. !ек 

�84п47о= ко<пе=E4F88 0,1—1 

�46одEк8е уEт4=о6к8 0,3 

�уEк (д4==4O Dу=кF8O отEутEт6ует)  

�Dодол68телP=оEтP у6ел8Gе=8O ток4 

�д.87<. !ек 

�84п47о= ко<пе=E4F88 0—10 

�46одEк8е уEт4=о6к8 0 

�47о6олPDD4<о64O E64Dк4: E64DоG=O9 ток 

�д.87<. � 

TIG‐250 10—200 (TIG‐DC)；10—200 (TIG‐AC‐HF)； 30—200 (TIG‐AC‐LIFT)； 

�474: ток 547O 

�д.87<. � 

TIG‐250PL 10—200 (DC)；10—200 (AC‐HF)；10—200 (AC‐LIFT) 

�46=о! �4==K9 п4D4<етD <о6=о 6K5D4тL толLко еEл8 =464т4 к=опк4 <8<пулLE=. 

�=8<4=8е! �4D4<етDK Ib 8 Iw =е дол6=K E8лL=о отл8G4тLEO. 

!оот=оHе=8е H8D8=O пDодол68телP=оEт8 8<пулPE4 8 пDодол68телP=оEт8 под4G8 ток4 547O 

�д.87<. % 

�84п47о= ко<пе=E4F88 5—100 

�46одEк8е уEт4=о6к8 5 

�46=о! �4==K9 п4D4<етD <о6=о 6K5D4тL толLко еEл8 =464т4 к=опк4 <8<пулLE=. 
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�оD87.: Ч4Eтот4 8<пулPEо6  

�д.87<. �F 

�84п47о= ко<пе=E4F88 0,5—200 

�46одEк8е уEт4=о6к8 0,5 

�46=о! �4==K9 п4D4<етD <о6=о 6K5D4тL толLко еEл8 =464т4 к=опк4 <8<пулLE=. 

Dslope : �Dодол68телP=оEтP у<е=PHе=8O ток4 

�д.87<. !ек 

�84п47о= ко<пе=E4F88 0—10 

�46одEк8е уEт4=о6к8 0 

!топ: КD4теD=O9 ток (Dу=кF8O отEутEт6ует)  

�Dе<O пDоду6к8 поEле 

E64Dк8 

 

�д.87<. !ек 

�84п47о= ко<пе=E4F88 0,1—10 

�46одEк8е уEт4=о6к8 3 

�F: Ч4Eтот4 пеDе<е==о7о ток4 (толPко длO Dе68<4 747о6олPDD4<о6о9 E64Dк8 E пеDе<е==O< токо<) 

�д.87<. �F 

�84п47о= ко<пе=E4F88 50—250 (Iw<50A)  

 50—200 (50A≤Iw<100A) 

 50—150 (100A≤Iw<150A) 

 50—100 (150A≤Iw<200A) 

�4л4=E (толPко длO Dе68<4 747о6олPDD4<о6о9 E64Dк8 E пеDе<е==O< токо<) 

�4EтDо9к4 54л4=E4 6 оE=о6=о< 8EполL7уетEO длO уд4ле=8O окE8до6 <ет4лло6 (4лN<8=8O, <47=8O 8 8E 

Eпл46о6) пD8 под4Gе пеDе<е==о7о ток4.  

�д.87<. % 

�84п47о= ко<пе=E4F88 15—50 

�46одEк8е уEт4=о6к8 15 

 

 

(9) �8Eпле9 E64DоG=о7о =4пDO6е=8O/дDу78E п4D4<етDо6 

�4 =е< ото5D464етEO E64DоG=ое =4пDO6е=8е 8 пDоG8е п4D4<етDK. 

�еDед =4G4ло< E64DоG=KE D45от =4 пD46о< д8Eплее ото5D464NтEO пDедуEт4=о6ле==Kе 7=4Gе=8O 

п4D4<етDо6 Tpr, Tup, Dcy, Fp, Tdown 8 Tpo. 

� теGе=8е 3-Eеку=д=о7о 8=теD64л4 6Dе<е=8 поEле =4EтDо9к8 д4==KE п4D4<етDо6 ото5D464етEO 
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=4пDO6е=8е откDKто9 Fеп8. 

�оEле =4G4л4 E64Dк8 =4 пD46о< д8Eплее ото5D464етEO текуIее D4кт8GеEкое 7=4Gе=8е E64DоG=о7о 

=4пDO6е=8O. 

(10) �8Eпле9 E64DоG=о7о ток4 

�деEL ото5D464NтEO пDедуEт4=о6ле==ое 8л8 D4кт8GеEкое 7=4Gе=8е E64DоG=о7о ток4. 

�еDед =4G4ло< E64DоG=KE D45от =4 ле6о< д8Eплее ото5D464NтEO пDедуEт4=о6ле==Kе 7=4Gе=8O ток4 Is, 

Iw, Ib 8 Ic. 

�оEле =4G4л4 E64Dк8 =4 ле6о< д8Eплее ото5D464етEO текуIее D4кт8GеEкое 7=4Gе=8е E64DоG=о7о ток4. 

�4 п4=ел8 упD46ле=8O E по<оILN ODкоEт8 8=д8к4тоD4 ото5D464етEO поло6е=8е, доEт87=утое пD8 E64Dке. 

� ���Ч����: 

� пDоFеEEе E64Dк8 <о6=о 8EполL7о64тL толLко к=опку 6K5оD4 п4D4<етDо6 8 F8DеD5л4т =4EтDо9к8. 
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4.4 ОпеD4F88 по 4D7о==о-ду7о6о9 E64Dке 

4.4 �47о6олPDD4<о64O E64Dк4 (Dе68< 2T) 
�4==4O Dу=кF8O 5е7 =4EтDо9к8 =4G4лP=о7о ток4 8 кD4теD=о7о ток4 <о6ет 8EполP7о64тPEO пD8 

по6тоD=о9 пD8E64тоG=о9 E64Dке, пеDеEод=о9 E64Dке, Aва@>5 B>=>их ??аABи= и 

B.4. 

 

 

 

 

�6еде=8е: 

 0: �46<8те 8 удеD68649те 6KклNG4телL 7оDелк8. �клNG8тEO MлектDо<47=8т=K9 747о6K9 

кл4п4=. �4G8=4етEO под4G4 74I8т=о7о 7474. 

 0～t1: �Dодол68телL=оEтL пDед64D8телL=о9 под4G8 7474 (0,1~1 Eек) 

 t1～t2: �Dо8EEод8т под687 ду78, поEле Gе7о 6KEод=о9 ток по6KH4етEO от <8=8<4лL=о7о 

7=4Gе=8O E64DоG=о7о ток4 до 74д4==о7о 7=4Gе=8O ток4 (Iw 8л8 Ib). 

 t2～t3: �о 6Dе<O 6Eе7о пDоFеEE4 E64Dк8 6KклNG4телL 7оDелк8 =ео5Eод8<о 7464тL 8 оEт468тL 6 

7464то< EоEтоO=88. 

�D8<еG4=8е: �D8 6K5оDе 8<пулLE=о7о Dе68<4 =4 6KEоде ток 547K 8 E64DоG=K9 ток 5удут 

6Kд464тLEO попеDе<е==о; 6 пDот86=о< EлуG4е 5удет 6Kд464тLEO E64DоG=K9 ток 74д4==о7о 7=4Gе=8O; 

 t3: ОтпуEт8те 6KклNG4телL 7оDелк8. �=4Gе=8е E64DоG=о7о ток4 E=878тEO 6 теGе=8е 

6K5D4==о7о 6Dе<е=8 E=86е=8O ток4. 

 t3～t4: !8л4 ток4 E=864етEO E 74д4==о7о 7=4Gе=8O (Iw 8л8 Ib) до <8=8<4лL=о7о E64DоG=о7о ток4, 

74те< ду74 отклNG4етEO. 

 t4～t5: �Dе<O пDоду6к8 поEле E64Dк8, поEле отклNGе=8O ду78. �Dодол68телL=оEтL <о6=о 

=4EтDо8тL (0,1~10 Eек) по6оDото< DуGк8 =4 пеDед=е9 п4=ел8. 

I (A) 

!64DоG=K9 ток Is 

'Eт4=о6ле==ое 7=4Gе=8е ток4 

547K Ib 
�46<8те 8 удеD68649те 

6KклNG4телL E64DоG=о9 

7оDелк8 

ОтпуEт8те 

6KклNG4телL 

E64DоG=о9 

7оDелк8 

�Kпол=е= 

под687 
ду78 

�у74 

6KклNGе=4 

t1 t2 t3 t4 t5 t (Eек.) 
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 t5: отклNGе=8е MлектDо<47=8т=о7о 747о6о7о кл4п4=4, пDекD4Iе=8е под4G8 74I8т=о7о 7474, 

око=G4=8е E64Dк8. 
 

$у=кF8O 74I8тK от коDотко7о 74<Kк4=8O: 

○ ,1 TIG /DC/LIFT: �Eл8 6олLDD4<о6K9 MлектDод пD8коE=етEO к D45оGе<у 87дел8N 6о 6Dе<O E64Dк8, E8л4 

ток4 уп4дет до 20�, Gто пDедот6D4т8т д4лL=е9Hее по6Dе6де=8е MлектDод4 8 пDодл8т 6Dе<O е7о 

8EполL7о64=8O, пDедот6D4I4O D4EтDеEк864=8е. 

○ ,2 TIG /DC/HF: �Eл8 6олLDD4<о6K9 MлектDод пD8коE=етEO к D45оGе<у 87дел8N 6о 6Dе<O E64Dк8, E8л4 

ток4 уп4дет до =улO 6 теGе=8е 1 Eеку=дK, Gто пDедот6D4т8т д4лL=е9Hее по6Dе6де=8е MлектDод4 8 

пDодл8т 6Dе<O е7о 8EполL7о64=8O, пDедот6D4I4O D4EтDеEк864=8е. 

$у=кF8O пDедот6D4Iе=8O о5DK64 ду78: �Dедот6D4Iе=8е пDеDK64=8O ду78 пеDе<е==о7о ток4 пD8 

747о6олLDD4<о6о9 E64Dке. �46е 6 EлуG4е о5DK64 ду78 пD8 6KEокоG4Eтот=о9 E64Dке о5еEпеG864етEO 

Eт458лL=оEтL ду78. 

�D8<еG4=8O: 
 

 !=4G4л4 пDо6еDLте EоEтоO=8е E64DоG=о7о 4пп4D4т4 8 Eоед8=е=89. � пDот86=о< EлуG4е 6о7<о6=K 

пеDе5о8 6 D45оте, 6 G4Eт=оEт8, пDо5ле<K, E6O74==Kе E 8EкDо9 746874=8O, утеGко9 7474, потеDе9 

упD46ле=8O 8 т.д. 

 '5ед8теEL 6 =4л8G88 доEт4тоG=о7о кол8GеEт64 747оо5D47=о7о 4D7о=4 6 54лло=е 74I8т=о7о 7474. 

�Dо6еDку MлектDо<47=8т=о7о 747о6о7о кл4п4=4 <о6=о оEуIеEт68тL E по<оILN 6KклNG4телO =4 

пеDед=е9 п4=ел8. 

 �е =4пD46лO9те 7оDелку =4 Dук8 8 дDу78е G4Eт8 тел4. �D8 =464т88 6KклNG4телO 747о6о9 7оDелк8 

пDо8EEод8т под687 ду78 E по<оILN 6KEокоG4Eтот=о9 6KEоко6олLт=о9 8EкDK. �EкD4 746874=8O 

<о6ет 6K7K64тL по<еE8 6 D45оте о5оDудо64=8O. 

  4EEод уEт4=46л864етEO 6 Eоот6етEт688 E <оI=оEтLN E64Dк8 длO д4==о7о 68д4 D45от. 

�о6оD4G8649те Dе7улOтоD длO =4EтDо9к8 D4EEод4 7474, котоDK9 ото5D464етEO =4 <4=о<етDе, 

D4Eполо6е==о< =4 747о6о< Hл4=7е 8л8 =4 <4=о<етDе, D4Eполо6е==о< =4 747о6о< 54лло=е. 

● �46874=8е E по<оILN 8EкDK 6Kпол=OетEO луGHе, еEл8 6о 6Dе<O 746874=8е D4EEтоO=8е <е6ду 

D45оG8< 87дел8е< 8 6олLDD4<о6K< MлектDодо< EоEт46лOет 3 <<. 

�D8<еG4=8е: �D8 6O5оDе Dе68<4 пеDе<е==о7о ток4 =4 6OEоде E8л4 ток4 8 DоD<4 6ол=O оEт4NтEO 

т4к8<8 6е, к4к ук474=о 6OHе, пD8 Qто< пDо8EEод8т попеDе<е==4O E<е=4 полOD=оEт8. 

4.5 �4D4<етDO E64Dк8 

4.5.1 $оD<O EтOко6 пD8 747о6олPDD4<о6о9 E64Dке 
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a EFы>>2>5 

E>548=5=85 

b =0х?5EF>ч=>5 

E20D=>5 E>548=5=85 

c G3?>2>5 

E>548=5=85 
d T->1D07=>5 E>548=5=85 

 

 

 

 

4.5.2 �оOE=е=8е по к4GеEт6у E64Dк8 

 

От=оHе=8е <е6ду F6ето< 7о=K E64Dк8 8 Eтепе=LN 74I8тK =еD646еNIе9 Eт4л8 

 

&6ет 7о=K 

E64Dк8 

EеDе5DO=K9, 

7олото9 
E8=89 кD4E=о‐EеDK9 EеDK9 GеD=K9 

!тепе=L 74I8тK E4<4O луGH4O оGе=L EоDоH4O EоDоH4O плоE4O оGе=L плоE4O 

 

 

 

От=оHе=8е <е6ду F6ето< 7о=K E64Dк8 8 Eтепе=LN 74I8тK т8т4=о6о7о Eпл464 

&6ет 7о=K 

E64Dк8 

ODко-

EеDе5D8EтK9 

оD4=6е6о-

6елтK9 

E8=е-

D8олето6K9 

EеDо64то-

7олу5о9 

5елK9 поDоHок 

окE8д4 т8т4=4 

!тепе=L 74I8тK E4<4O луGH4O оGе=L EоDоH4O EоDоH4O плоE4O оGе=L плоE4O 

 

 

4.5.3 !оот6етEт68е п4D4<етDо6 пD8 747о6олPDD4<о6о9 E64Dке 

 

!оот=оHе=8е <е6ду д84<етDо< 747о6о9 7оDелк8 8 д84<етDо< MлектDод4 

�84<етD 747о6о9 7оDелк8, << �84<етD MлектDод4, << 

6,4 0,5 

8 1,0 

9,5 1,6 8л8 2,4 

11,1 3,2 

�D8<еG4=8е: ук474==Kе п4D4<етDK 67OтK 87 «!пD46оG=8к4 по E64Dке», EтD. 142, &о< 

1, �7д4=8е 2. 
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�47о64O 7оDелк4 8 D4EEод 74I8т=о7о 7474 

�84п47о= 7=4Gе=89 

E64DоG=о7о ток4, � 

�оло68телL=ое Eоед8=е=8е 

поEтоO==о7о ток4 
�еDе<. ток 

�84<етD 747о6о9 

7оDелк8, << 

 4EEод 

7474/л∙<8=‐1 

�84<етD 747о6о9 

7оDелк8, << 

 4EEод 

7474/л∙<8=‐1 

10～100 4～9,5 4～5 8～9,5 6～8 

101～150 4～9,5 4～7 9,5～11 7～10 

151～200 6～13 6～8 11～13 7～10 

201～300 8～13 8～9 13～16 8～15 

�D8<еG4=8е: ук474==Kе п4D4<етDK 67OтK 87 «!пD46оG=8к4 по E64Dке», EтD. 149, &о< 1, �7д4=8е 2. 

 

 

 

�84<етD 6олLDD4<о6о7о 

MлектDод4, << 

�84<етD =4 оEтD8е 

MлектDод4, << 
у7ол ко=уE4ÿ°Ā Dо=о6K9 ток, � 

1,0 0,125 12 2～15 

1,0 0,25 20 5～30 

1,6 0,5 25 8～50 

1,6 0,8 30 10～70 

2,4 0,8 35 12～90 

2,4 1,1 45 15～150 

3,2 1,1 60 20～200 

 

 

 

�47о6олLDD4<о64O E64Dк4 87дел89 87 =еD646еNIе9 Eт4л8 (од=опDоEод=4O) 

&олI8=4 

D45оGе7о 

87дел8O, << 

$оD<4 

Eоед8=е=8O 

д84<етD 

6олLDD4<о6о7

о MлектDод4, 

д84<етD 

MлектDод4, << 

 4EEод 

747оо5D47=

о7о 4D7о=4, 

E64DоG=K9 

ток 

(поEтоO==K9 

!коDоEтL 

E64Dк8, 

E<∙<8=‐1 
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<< л∙<8=‐1 ток о5D4т=о9 

полOD=оEт8) 

0,8 
!тKко6ое 

Eоед8=е=8е 
1,0 1,6 5 20～50 66 

1,0 
!тKко6ое 

Eоед8=е=8е 
1,6 1,6 5 50～80 56 

1,5 
!тKко6ое 

Eоед8=е=8е 
1,6 1,6 7 65～105 30 

1,5 '7ло6о9 Hо6 1,6 1,6 7 75～125 25 

2,4 
!тKко6ое 

Eоед8=е=8е 
1,6 2,4 7 85～125 30 

2,4 '7ло6о9 Hо6 1,6 2,4 7 95～135 25 

3,2 
!тKко6ое 

Eоед8=е=8е 
1,6 2,4 7 100～135 30 

3,2 '7ло6о9 Hо6 1,6 2,4 7 115～145 25 

4,8 
!тKко6ое 

Eоед8=е=8е 
2,4 3,2 8 150～225 25 

4,8 '7ло6о9 Hо6 3,2 3,2 9 175～250 20 

�D8<еG4=8е: ук474==Kе п4D4<етDK 67OтK 87 «!пD46оG=8к4 по E64Dке», EтD. 150, &о< 1, �7д4=8е 2. 

 

�4D4<етDK 7еD<ет8G=о9 E64Dк8 тDу5 87 <O7ко9 Eт4л8ÿпоEтоO==K9 ток о5D4т=о9 полOD=оEт8Ā 

�84<етD 

тDу5опDо6од4 

Ø, << 

�84<етD 

6олLDD4<о6о

7о MлектDод4, 

<< 

�84<етD 

747о6о9 

7оDелк8, << 

�84<етD 

MлектDод4, 

<< 

!64DоG=K

9 ток, A 

�4пDO6е

=8е ду78, 

� 

 4EEод 

4D7о=4 

/ 

л∙<8=‐1 

!коDоEтL 

E64Dк8 

/ E<∙<8=‐

1
 

38 2,0 8 2 75～90 11～13 6～8 4～5 

42 2,0 8 2 75～95 11～13 6～8 4～5 

60 2,0 8 2 75～100 11～13 7～9 4～5 

76 2,5 8～10 2,5 80～105 14～16 8～10 4～5 

108 2,5 8～10 2,5 90～110 14～16 9～11 5～6 
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133 2,5 8～10 2,5 90～115 14～16 10～12 5～6 

159 2,5 8～10 2,5 95～120 14～16 11～13 5～6 

219 2,5 8～10 2,5 100～120 14～16 12～14 5～6 

273 2,5 8～10 2,5 110～125 14～16 12～14 5～6 

325 2,5 8～10 2,5 120～140 14～16 12～14 5～6 

�D8<еG4=8е: ук474==Kе п4D4<етDK 67OтK 87 «!пD46оG=8к4 по E64Dке», EтD. 167, &о< 1, �7д4=8е 2. 

 

�4D4<етDK 747о6олLDD4<о6о9 E64Dк8 87дел89 87 4лN<8=8O 8 е7о Eпл46о6 

&олI8=4 

л8Eт4, << 

�84<етD 

MлектDод

4, << 

�84<етD 

6олLDD4<

о6о7о 

MлектDод

4, << 

&е<пеD4

туD4 

пDед64D

8телL=о7

о 

=47Dе64, ℃ 

!64DоG=

K9 ток, 

A 

 4EEод 

4D7о=4, 

л∙<8=‐1 

�84<етD 

747о6о9 

7оDелк8, 

<< 

�4<еG4=8е 

1 1,6 2 － 45～60 7～9 8 
!64Dк4 

Dл4=Fе6 

1,5 1,6～2,0 2 － 50～80 7～9 8 

!64Dк4 

Dл4=Fе6 8л8 

EтKко6KE H6о6 

E од=о9 

EтоDо=K 

2 2～2,5 2～3 － 90～120 8～12 8～12 
!тKко6K9 

E64D=о9 Hо6 

3 2～3 3 － 150～180 8～12 8～12 

!64Dк4 

EтKко6KE H6о6 

E V-о5D47=о9 

к4=46ко9 

4 3 4 － 180～200 10～15 8～12 

 

5 3～4 4 － 180～240 10～15 10～12 

6 4 5 － 240～280 16～20 14～16 

8 4～5 5 100 260～320 16～20 14～16 
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10 4～5 5 100～150 280～340 16～20 14～16 

12 4～5 5～6 150～200 300～360 18～22 16～20 

14 5～6 5～6 180～200 340～380 20～24 16～20 

16 5～6 6 200～220 340～380 20～24 16～20 

18 5～6 6 200～240 360～400 25～30 16～20 

20 5～6 6 200～260 360～400 25～30 20～22 

16～20 5～6 6 200～260 300～380 25～30 16～20 

!64Dк4 

EтKко6KE H6о6 

E X-о5D47=о9 

к4=46ко9 

22～25 5～6 6～7 200～260 360～400 30～35 20～22 
 

 

4.6  45оG4O EDед4 

● �KEот4 =4д уDо6=е< <оDO <е=ее 1000 <. 

● �84п47о= D45оG8E те<пеD4туD: ‐10°C～+40°C. 

● От=оE8телL=4O 6л46=оEтL =86е 90 % (пD8 20°C). 

● �DедпоGт8телL=о D4Eполо68тL 4пп4D4т под =екотоDK< у7ло< =4д уDо6=е< пол4, пD8 Mто< 

<4кE8<4лL=K9 у7ол =е дол6е= пDе6KH4тL 15°. 

● �4I8т8те 4пп4D4т от E8лL=о7о до6дO 8 пDO<KE Eол=еG=KE луGе9 (6 64Dк8E уEло68OE). 

● !одеD64=8е пKл8, к8EлотK, коDDо78о==KE 747о6 6 окDу64NIе< 6о7дуEе 8л8 EDеде =е дол6=K 

пDе6KH4тL Eт4=д4Dт=KE 7=4Gе=89. 

● '5ед8теEL 6 =4л8G88 доEт4тоG=о9 6е=т8лOF88 6о 6Dе<O E64DоG=KE D45от.  4EEтоO=8е <е6ду 

E64DоG=K< 4пп4D4то< 8 Eте=о9 дол6=о 5KтL =е <е=ее 30 E<. 

4.7 �D8<еG4=8O по D45оте 

● �=8<4телL=о пDоG8т49те пу=кт 1 пеDед те<, к4к 8EполL7о64тL Mто о5оDудо64=8е. 

● !оед8=8те пDо6од 747е<ле=8O =4пDO<уN E 4пп4D4то<, 8 E<. §3.5. 

● �Eл8 E8ло6о9 6KклNG4телL 74кDKт, <о6ет 5KтL =4пDO6е=8е EолоEто7о Eод4. �е дотD478649теEL до 

6KEод=о7о MлектDод4 =8к4к8<8 G4EтO<8 тел4. 

● �еDед =4G4ло< D45отK 6Eе л8F4, =е уG4Eт6уNI8е 6 D45оте, дол6=K уд4л8тLEO. �е E<отD8те =4 ду7у 5е7 

74I8тK длO 7л47. 

● '5ед8теEL 6 =4л8G88 EоDоHе9 6е=т8лOF88 длO о5еEпеGе=8O луGHе7о коMDD8F8е=т =47Dу7к8. 

● �оEле 746еDHе=8O опеD4F88 6KклNG8те д6874телL E FелLN Mко=о<88 M=еD788. 
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● Ко7д4 E8ло6о9 6KклNG4телL отклNG8тEO 87-74 поло<к8 �е пеDе74пуEк49те 4пп4D4т, пок4 пDо5ле<4 =е 

DеHе=4. �=4Gе пDо5ле<4 уEу7у58тEO. 
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5 &еEо5Eлу6864=8е 8 уEтD4=е=8е 

=е8EпD46=оEте9 

5.1 &еE=8GеEкое о5Eлу6864=8е 

'то5K о5еEпеG8тL MDDект86=уN 8 5е7оп4E=уN D45оту E64DоG=о7о 4пп4D4т4, =ео5Eод8<о Dе7улOD=о 

пDо6од8тL е7о теE=8GеEкое о5Eлу6864=8е. �ео5Eод8<о о5JOE=8тL 74к47G8к4<, Gто <етодK 8 EпоEо5K 

теEо5Eлу6864=8O ду7о6о7о E64DоG=о7о 4пп4D4т4 по76олONт 74к47G8ку E4<оEтоOтелL=о 6Kпол=OтL пDоEто9 

оE<отD 8 74I8т=Kе <еDопD8Oт8O, E=878тL G4Eтоту по6Dе6де=89 8 пDодол68телL=оEтL Dе<о=т4 

E64DоG=о7о 4пп4D4т4, 8 т4к8< о5D47о<, пDодл8тL EDок MкEплу4т4F88 E64DоG=о7о 4пп4D4т4. �олее 

подDо5=о D4EEод=Kе <4теD84лK длO теEо5Eлу6864=8O пDедEт46ле=K 6 EледуNIе9 т45л8Fе. 

● �DедупDе6де=8е: � FелOE 5е7оп4E=оEт8, 6о 6Dе<O теEо5Eлу6864=8O 4пп4D4т4, отклNG49те 8EтоG=8к 

п8т4=8O 8 о68д49те 5 <8=ут до п4де=8O =4пDO6е=8O до 5е7оп4E=о7о 7=4Gе=8O 36 6олPт! 

д4т4 О5Jект о5Eлу6864=8O 

�6ед=е6=K9 

оE<отD 

'5ед8теEL, Gто DуGк4 =4 п4=ел8 8 пеDеклNG4телL =4 пеDед=е9 п4=ел8, 8 =4 74д=е9 

G4Eт8 ду7о6о7о E64DоG=о7о 4пп4D4т4 под686=K 8 =4EодOтEO 6 пD468лL=о< поло6е=88. 

�Eл8 DуGк4 =4Eод8тEO 6 =епD468лL=о< поло6е=88, 8EпD46Lте Mто; пD8 отEутEт688 

6о7<о6=оEт8 уEтD4=8тL =е8EпD46=оEтL =е<едле==о 74<е=8те DуGку; 

�Eл8 пеDеклNG4телL =епод686е= 8л8 =4Eод8тEO 6 =епD468лL=о< поло6е=88, 

=е<едле==о 74<е=8те е7о; 6 EлуG4е отEутEт68O =ео5Eод8<KE дет4ле9 E6O68теEL E 

отдело< теE=8GеEко7о о5Eлу6864=8O. 

�оEле 6клNGе=8O п8т4=8O поE<отD8те/поEлуH49те, тDOEетEO л8 ду7о6о9 E64DоG=K9 

4пп4D4т, 8<еетEO л8 E68EтOI89 76ук 8л8 EпеF8D8GеEк89 74п4E. �Eл8 =8 од=о9 87 

6KHепеDеG8Eле==KE пDо5ле< =е 6о7=8к4ет, =49д8те пD8G8=у 8 уEтD4=8те ее; еEл8 6K 

=е <о6ете =49т8 пD8G8=у, E6O68теEL E <еEт=K< 47е=то< 8л8 E D8л84ло< ко<п4=88. 

�Dо6еDLте пD468лL=оEтL пок474=89 E6етод8од=о< 8=д8к4тоDе. �Eл8 F8DD4 =4 д8Eплее 

по6Dе6де=4, 74<е=8те по6Dе6де==K9 E6етод8од. �Eл8 поEле 74<е=K д8Eпле9 6Eе 

D46=о =е D45от4ет, отDе<о=т8Dу9те 8л8 74<е=8те д8Eпле9 PCB. 

�Dо6еDLте Eоот6етEт68е <8=8<4лL=о7о/<4кE8<4лL=о7о 7=4Gе=8O =4 E6етод8од=о< 

8=д8к4тоDе уEт4=о6ле==о<у 7=4Gе=8N. �Eл8 еEтL D47л8G8е 8 о=о по6л8Oло =4 

=оD<4лL=K9 пDоFеEE E64Dк8, отDе7ул8Dу9те е7о. 

�Dо6еDLте, по6Dе6де= л8 6е=т8лOтоD, =оD<4лL=о л8 о= 6D4I4етEO 8л8 упD46лOетEO. 

�Eл8 6е=т8лOтоD по6Dе6де=, =е<едле==о 74<е=8те е7о. �Eл8 пD8 пеDе7Dе6е E64DоG=о7о 

4пп4D4т4 6е=т8лOтоD =е 6D4I4етEO, 6Kпол=8те пDо6еDку =4 =4л8G8е поEтоDо==8E 

пDед<ето6, пDепOтEт6уNI8E 6D4Iе=8N лоп4Eт8. �Eл8 лоп4EтL 745лок8Dо64=4, 

8EпD46Lте Mто; еEл8 поEле Mто7о 6е=т8лOтоD =е 6D4I4етEO, <о6=о подтолк=утL лоп4Eт8 
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6 =4пD46ле=88 6D4Iе=8O 6е=т8лOтоD4. �Eл8 6е=т8лOтоD 6D4I4етEO =оD<4лL=о, 

=ео5Eод8<о 74<е=8тL пуEко6о9 ко=де=E4тоD; еEл8 =ет, 74<е=8те 6е=т8лOтоD. 

�Kпол=8те пDо6еDку =4 пDед<ет оEл45ле=8O 8л8 пеDе7Dе64 Eоед8=8телO. �Eл8 6 

ду7о6о< E64DоG=о< 4пп4D4те 8<еNтEO 6KHепеDеG8Eле==Kе пDо5ле<K, Eоед8=8телL 

=ео5Eод8<о 74кDеп8тL 8л8 74<е=8тL. 

�Dо6еDLте, =е по6Dе6де= л8 к45елL 6KEод=о7о ток4. �Eл8 к45елL по6Dе6де=, е7о 

Eледует E<от4тL, 87ол8Dо64тL 8л8 74<е=8тL. 

�6е<еEOG=K

9 оE<отD 

�EполL7у9те EуEо9 E64тK9 6о7дуE длO оG8Eтк8 6=утDе==8е G4Eт8 ду7о6о7о 

E64DоG=о7о 4пп4D4т4. � оEо5е==оEт8 длO оG8Iе=8O пKл8 =4 D4д84тоDе, оE=о6=о< 

тD4=EDоD<4тоDе =4пDO6е=8O, к4туHке 8=дукт86=оEт8, <одуле �&��, 

5KEтDо6оEEт4=46л864NIе<EO д8оде, 6KклNG4теле п8т4=8O 8 т.д. 

�Dо6еDLте 68=т 6 ду7о6о< E64DоG=о< 4пп4D4те, еEл8 о= оEл45ле=, 74тO=8те е7о. 

�Eл8 о= по6Dе6де=, 74<е=8те. �Eл8 5олт D646K9, уд4л8те D646G8=у 8 у5ед8теEL, Gто 

68=т D45от4ет EоDоHо. 

�6ек64Dт4лL

=K9 оE<отD 

!оот6етEт6ует л8 D4кт8GеEкое 7=4Gе=8е ток4 ото5D464е<о<у 7=4Gе=8N? �Eл8 =е 

Eоот6етEт6ует, Mто Eледует отDе7ул8Dо64тL. $4кт8GеEкое 7=4Gе=8е ток4 <о6=о 

87<еD8тL E по<оILN =4EтD4864е<о7о 4<пеD<етD4 клеIе6о7о т8п4. 

�6е7од=K9 

оE<отD 

�7<еDLте 87ол8DуNI89 8<пед4=E 6 оE=о6=о9 Fеп8 8 6KклNG4теле п8т4=8O. � 

EлуG4е, еEл8 7=4Gе=8е =86е 1MО<, 87олOF8O EG8т4етEO по6Dе6де==о9 8 подле68т 

74<е=е, л85о укDепле=8N. 

 

 

5.2 �о8Eк 8 уEтD4=е=8е =е8EпD46=оEте9 

 �еDед доEт46ко9 E 746од4 ду7о6Kе E64DоG=Kе 4пп4D4тK пDоHл8 пDоFедуDу отл4дк8. Л8F4, =е 

полуG86H8е =4Hу 46тоD874F8N, =е допуEк4NтEO к 6=еEе=8N 87<е=е=89 6 о5оDудо64=8е! 

 &еEо5Eлу6864=8е дол6=о пDо6од8тLEO 4ккуD4т=о. �еDе785 к4ко7о-л85о пDо6од4 8л8 

D4Eполо6е=8е е7о 6 =епD468лL=о< <еEте <о6ет Eо7д4тL поте=F84лL=уN у7Dо7у длO полL7о64телO! 

  е<о=т8Dо64тL 4пп4D4т <о6ет толLко пDоDеEE8о=4лL=K9 пеDEо=4л, полуG86H89 46тоD87о64==K9 

т =4Hе9 ко<п4=8е9! 

 �еDед те<, к4к 6клNG4тL ко=туD о5оDудо64=8O, у5ед8теEL, Gто п8т4=8е ду7о6о7о E64DоG=о7о 

4пп4D4т4 отклNGе=о! 

 �D8 6о7=8к=о6е=88 пDо5ле<K 8 отEутEт688 46тоD87о64==о7о пеDEо=4л4 теEподдеD6к8, E6O68теEL 

E E <еEт=K< 47е=то< 8л8 E D8л84ло< ко<п4=88! 

�D8 6о7=8к=о6е=88 пDоEтKE пDо5ле< E WSME, 6K <о6ете о5D4т8тLEO к EледуNIе9 т45л8Fе Dе<о=т4: 
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№ 
�Dо5ле<K �DедпоEKлк8  4Eт6оD 

1 

�EтоG=8к п8т4=8O 8 6е=т8лOтоD 

D45от4Nт, =о ко=тDолL=4O л4<поGк4 

п8т4=8O отклNGе=4. 

�о6Dе6де=4 л4<поGк4 п8т4=8O 8л8 

плоEое Eоед8=е=8е 
�Dо6еDLте 8 поG8=8те Pr7 

Отк47 E8ло6о7о тD4=EDоD<4тоD4 
�оG8=8те 8л8 74<е=8те 

тD4=EDоD<4тоD 

Отк47 6KклNG4телO п8т4=8O 

E8Eте<K упD46ле=8O 

�оG8=8те 8л8 74<е=8т E8Eте<у 

упD46ле=8O Pr4 

2 

�EтоG=8к п8т4=8O 6клNGе=, л4<поGк4 

п8т4=8O 6клNGе=4, =о 6е=т8лOтоD =е 

D45от4ет 

�Dо5ле<4 6 6е=т8лOтоDе �KOE=8те 

�уEко6о9 ко=де=E4тоD 6е=т8лOтоD4 

по6Dе6де= 
�4<е=8те ко=де=E4тоD 

�6874телL 6е=т8лOтоD4 по6Dе6де= �4<е=8те 6е=т8лOтоD 

3 

�EтоG=8к п8т4=8O 6клNGе=, =о 

л4<поGк4 п8т4=8O отклNGе=4, 8 

6е=т8лOтоD =е D45от4ет 

�е под4етEO п8т4=8е �Dо6еDLте под4Gу п8т4=8O 

�DедоED4=8телL 6=утD8 4пп4D4т4 

по6Dе6де= 
�4<е=8те е7о (3A) 

4 &8DDK =4 д8Eплее по6Dе6де=K. !6етод8од 6 д8Eплее по6Dе6де= �4<е=8те E6етод8од 

5 

�4кE8<4лL=Kе 8 <8=8<4лL=Kе 

ото5D464е<Kе 7=4Gе=8O =е 

Eоот6етEт6уNт уEт4=о6ле==K< 

7=4Gе=8O<. 

�4кE8<4лL=ое 7=4Gе=8е =е 

Eоот6етEт6ует (E<. §3.1) 

ОтDе7ул8Dу9те поте=F8о<етD =4 

п4=ел8 п8т4=8O. 

�8=8<4лL=ое 7=4Gе=8е =е 

Eоот6етEт6ует (E<. §3.1) 

�KEт46Lте =4 поте=F8о<етDе 

7=4Gе=8е Imaxin длO 87<еD8телO 

ток4. 

6 
ОтEутEт6ует 6KEод=ое =4пDO6е=8е 

EолоEто7о Eод4 
�пп4D4т по6Dе6де= �Dо6еDLте оE=о6=уN FепL 8 Pr4. 

7 

�у74 =е 746874етEO 

(747о6олLDD4<о64O 

E64Dк4) 

�EкD4 =4 п4=ел8 

6KEокоG4Eтот=о7о 

746874=8O. 

!64DоG=K9 к45елL =е Eоед8=е= E 

д6у<O 6KEод4<8 E64DоG=о7о 

4пп4D4т4. 

!оед8=8те E64DоG=K9 к45елL E 

6KEодо< E64DоG=о7о 4пп4D4т4. 

!64DоG=K9 к45елL по6Dе6де=. �оG8=8те 8л8 74<е=8те е7о. 

!оед8=е=8е к45елO 747е<ле=8O 

=еEт458лL=о. 
�Dо6еDLте к45елL 747е<ле=8O. 

!64DоG=K9 к45елL Eл8Hко< 

дл8==K9. 

�EполL7у9те подEодOI89 

E64DоG=K9 к45елL. 

�4Eло 8л8 пKлL =4 747ото6ке. �Dо6еDLте 8 уд4л8те. 

!л8Hко< 5олLHое D4EEтоO=8е 

<е6ду 6олLDD4<о6K< к45еле< 8 

747ото6ко9. 

'<е=LH8те D4EEтоO=8е (пD8<еD=о 

3 <<). 

�4 п4=ел8 �4=елL 746874=8O HF =е D45от4ет. �оG8=8те 8л8 74<е=8те Pr8 
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№ 
�Dо5ле<K �DедпоEKлк8  4Eт6оD 

746874=8O HF =ет 

8EкDK. 
 47DOд=K9 пDо<е6уток Eл8Hко< 

<4л. 

�епD468лL=ое Dу=кF8о=8Dо64=8е 

пеDеклNG4телO E64DоG=о9 7оло6к8. 

ОтDе7ул8Dу9те Mто D4EEтоO=8е 

(пD8<еD=о 0,7 <<). 

�Dо6еDLте пеDеклNG4телL 

E64DоG=о9 7оло6к8, к45елL 

упD46ле=8O 8 Dо7етку. 

8 
�ет под4G8 7474 (747о6олLDD4<о64O 

E64Dк4) 

�47о6K9 54лло= 74кDKт 8л8 =87кое 

д46ле=8е 7474 

ОткDо9те 8л8 74<е=8те 747о6K9 

54лло= 

�оEтоDо==89 о5Jект 6 кл4п4=е 'д4л8те 

1лектDо<47=8т=K9 кл4п4= 

по6Dе6де= 
�4<е=8те кл4п4= 

9 �47 под4етEO поEтоO==о 

�клNGе=4 к=опк4 ко=тDолO 747о6о9 

EDедK =4 пеDед=е9 п4=ел8 

К=опк4 ко=тDолO 747о6о9 EDедK =4 

пеDед=е9 п4=ел8 6KклNGе=4 

�оEтоDо==89 о5Jект 6 кл4п4=е 'д4л8те 

1лектDо<47=8т=K9 кл4п4= 

по6Dе6де= 
�4<е=8те кл4п4= 

�4EтDо9к4 DуGк8 ко=тDолO 6Dе<е=8 

до под4G8 7474 =4 пеDед=е9 п4=ел8 

по6Dе6де=4. 

�оG8=8те 8л8 74<е=8те 

10 
!64DоG=K9 ток =е6о7<о6=о 

отDе7ул8Dо64тL 

�оте=F8о<етD E64DоG=о7о ток4 =4 

пеDед=е9 п4=ел8 плоEо D45от4ет 

8л8 по6Dе6де= 

�оG8=8те 8л8 74<е=8те 

поте=F8о<етD 

11 
�D8 6K5оDе пеDе<е==о7о ток4 

отEутEт6ует под4G4 пеDе<е==о7о ток4 

К45елL 6KклNG4телO п8т4=8O 

по6Dе6де=. 
�оG8=8те 8л8 74<е=8те е7о. 

�D86од 6KклNG4телO п8т4=8O 

пеDе<. ток4 по6Dе6де=. 
�4<е=8те пD86од. 

�&�� <одулL пеDе<е==о7о ток4 

по6Dе6де=. 
�4<е=8те <одулL. 

12 

!64DоG=K9 ток ото5D464етEO =е 6 

Eоот6етEт688 E D4кт8GеEк8< 

7=4Gе=8е<. 

�8=8<4лL=ое ото5D464е<ое 

7=4Gе=8е =е Eоот6етEт6ует 

D4кт8GеEко<у 7=4Gе=8N. (!<. §3.1) 

ОтDе7ул8Dу9те поте=F8о<етD =4 

п4=ел8 п8т4=8O. 

�4кE8<4лL=ое ото5D464е<ое 

7=4Gе=8е =е Eоот6етEт6ует 

D4кт8GеEко<у 7=4Gе=8N. (!<. §3.1) 

�KEт46Lте =4 поте=F8о<етDе 

7=4Gе=8е Imax длO 5лок4 п8т4=8O. 

13 
�едоEт4тоG=ое пDо=8к=о6е=8е 

68дко7о <ет4лл4. 

!л8Hко< =87к89 E64DоG=K9 ток '6ел8GLте E64DоG=K9 ток 

� пDоFеEEе E64Dк8 ду74 Eл8Hко< 

дл8==4O 
�EполL7у9те опеD4F8N 2T 
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№ 
�Dо5ле<K �DедпоEKлк8  4Eт6оD 

14 
Л4<п4 E87=4л874F88 =4 пеDед=е9 

п4=ел8 6клNGе=4 

�4I8т4 от 

пеDе7Dе64 

!л8Hко< 

E8лL=K9 

E64DоG=K9 ток 

'<е=LH8те 6KEод E64DоG=о7о ток4 

!л8Hко< 

дл8телL=ое 

6Dе<O D45отK 

'<е=LH8те D45оG89 F8кл (D45от4 

E пеDеDK64<8) 

�4I8т4 от 

<4кE8<4лL=о7о 

=4пDO6е=8O 

Коле54=8O 

под4G8 

MлектDоп8т4=8O 

�EполL7у9те Eт458лL=уN под4Gу 

MлектDоп8т4=8O 

�4I8т4 от 

по=86е==о7о 

=4пDO6е=8O 

Коле54=8O 

под4G8 

MлектDоп8т4=8O 

�EполL7у9те Eт458лL=уN под4Gу 

MлектDоп8т4=8O 

!л8Hко< <=о7о 

4пп4D4то6 

8EполL7уNт 

MлектDоп8т4=8е 

од=о6Dе<е==о 

'<е=LH8те кол8GеEт6о 4пп4D4то6, 

8EполL7уNI8E MлектDоп8т4=8е 

од=о6Dе<е==о 

�4I8т4 от 

E6еDEток4 

�ео5KG=K9 ток 6 

оE=о6=о9 Fеп8 

�Dо6еDLте 8 поG8=8те оE=о6=уN 

FепL 8 пD86од Pr6 
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5.3 �D8=F8п84лP=4O QлектD8GеEк4O EEе<4 
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6 ЧеDте6 

1  укоOтк4 12 �KпDO<8телL=K9 

<оEт 

23 �е=т8лOтоD 34 �7олOF8о==4O 

пл4Eт8=4 2 

2 КоDпуE 4пп4D4т4 13 �4теD8=Eк4O пл4т4 24  е78=о64O опоD4 35 &D4=EDоD<4тоD 

3 �улLт упD46ле=8O 14 �4I8т=4O 

87олOF8о==4O 

пл4Eт8=4 

25 ОпоD=4O пл8т4 36 �еDед=OO кDKHк4 

4 �KEод=о9 Dе4ктоD 15 ОпоD4 26 Коло=к4 2 37 !68=Fо6K9 7<ее68к 

5 Коло=к4 1 16 �4д=OO п4=елL 27  4д84тоD 3 38 �KEтDоD47Jе<=ое 

Eоед8=е=8е 

6 �7олOF8о==4O 

пл4Eт8=4 1 

17 �4д=OO пл4Eт8ко64O 

кDKHк4 

28 !опDот86ле=8е 39 �KEтDоD47Jе<=ое 

747о6ое Eоед8=е=8е 

7 �KпDO<8телL=4O 

л4<п4 

18 �KEтуп л8=88 п8т4=8O 29 2-O пл4т4 8=6еDтоD4 

IGBT 

40 !т4F8о=4D=4O 5474 

8 �7олOF8о==K9 5лок 19 1лектDо<47=8т=K9 

кл4п4= 

30 �4I8т=4O 

87олOF8о==4O 

41 �еDед=OO 

пл4Eт8ко64O кDKHк4 
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пл4Eт8=4 

9  4д84тоD 1 20 �KклNG4телL п8т4=8O 31 2-O пл4т4 8=6еDтоD4 42  уGк4 

10  еле те<пеD4туDK 21 Л1� 32  4д84тоD 4   

11  4д84тоD 2 22 �4д=OO пл4Eт8ко64O 

кDKHк4 

33 �D868<=4O пл4Eт8=4   
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